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Participant instructions
Beside the car:

Please adjust the seat position and secure the safety belt. The car controls work in the
same manner as any normal car and it operates with a manual gearbox.

You need to make sure the car is in neutral when you start it and it needs plenty of revs,
otherwise it has a tendency to stall.

It is important that you drive as you would normally. We don’t want you to drive as if
you are on a driving test nor as if the simulation is a computer game. We are not here to
judge your driving, so please do not feel anxious.

A red bar like the one you can see on the screen now will appear at some point during
your drive. There is also a buzzing noise that will sound at some point during the drive.
When you hear the buzzing noise, or see the red bar please press the clutch pedal as
quickly as you possibly can. .You will hear the buzzing sound about 20 seconds into this
drive as a practice to help you recognise it.

The drive will start on the motorway with normal traffic. After some while, the motorway
will end and you will reach a series of bends. You should try to keep to 40 mph through
this section and the simulator will assess your ability to keep to the centre of your lane
through the bends.

After the series of bends, you will drive on the motorway again. After a period of time
you will see a vehicle in front of you. Please pull up behind this vehicle and follow it,
doing your best to keep at a safe and constant distance behind it. A voice instruction will
let you know when the car following task has finished.

There will be voice instructions to remind you about these tasks.
Text drive only

During this drive you will be asked to send and receive text messages, please only read
text messages when you are asked to. Please text as you normally would i.e. using short
words and predictive text.

From the control room:

Start: Please start the engine using the ignition key and proceed, driving as you would
normally
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Self-efficacy An individual's confidence in theibidity to drive and text
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2.7.1 Reaction time events
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2.7.2.1 Writing text messages
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2.7.2.4 Control messages
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2.7.3 Overall design

O LR (A} $ % ) $
$ $ + $ %
$ L] % LA 6 L]
& & 7 7
T
C < 7 ;
Vv
3 <
C <0
<
&+
C <
N < /
C < /
V C <
1 51 1/

/0 012



59

/| 5# /
3 (0]
C
8 K>
/8 ?2$ /78 %
88
-8 ?9% & %
/08 9
/18 ?

/7

012



572 3/
# BC
/ 59 3/ 5;%2
T T $ 3
$ % $
N N $ %
$ % $
u u $ %
$ % $
$ %
? ? $ $
$ 3%
$ 3%
$
B $ %
$
>
54; >/
< < 5%
/7 3 ) $ 8
C ™) -84
$
/8 012



$ & ’
%
$ % )
ww ) /2
74<V 7)) ?2V/ 7" : - $
% - ) LAl 6
$ % >
15 3 * + 7
3 $ ) 6
$ 6

* .,/ % / /

* , C %

* 0 C % 0 0

* , C % 7 7
3.2.1 Response rate
3 $ $ 1 &/2

Q7 $ $ - 1.1
$ /7.1 % $
* 6 & &/*V028 F V

80" % ; " i
3.2.2 Reaction times
3 , ww )

0/ ' + yAL
% .w LAl
% L]

/1 012



E Control
B Texting
Auditory 1 Auditory 2 Auditory 3 Visual
RT task
1 14 3 7
0/ (R . ) (R %
$ $ * "
' 0& /K &/0° V *

81 -) W /F K &0"V* - 7F V / F OK & "V * 187F

V 8 1F ; K& *"V* 77 F V ors°

LI | o /

38 &> ) L, )= ) E> )

F R ) , ) > E LA 2') LAl
$ $ $F
% )
% L]
.w $
$ $ b % $ $
$
3.3.1 Speed
0 ' % $ $

/2 012



©
o

[0}
(o]

(00}
(o2}

Mean maximum speed (mph)
~ ~ (0] [00] o]
(o)) [e¢] o N N
| | | | |

~
i
I

~
N
|

6

%
$ &&/1°V
$
7

00

$

-2F
/&

Control

\Y4

$

3

08"
K

7

3

Texting

Drive

%

% K2 - F &1V 1F

[ R ] O& LR L]

%

\Y4

012



54.4

54.3
54.2
g
£ 54.1 -
k5
o 54.0 A
o
(%]
C
© 53.9 -
=
53.8 -
53.7
53.6 -
Control Texting
Drive
1 11 3 / & 1
) "y $ % &
87 /0 $ % K80 -2 F &/1" VvV /1F V
$ $
" $ $ % s
$ $ I %
$
3.3.2 Variation in lane position
$ L
* $
$ & >, ) s E C )/--/F> )
$ LA
$ 07




0.80
0.78 -
0.76 -
0.74
& 0.72
% |
- 0.70
8
= 0.68 -
0.66 -
0.64 -
0.62 -
0.60 -
Control Texting
Drive
1 16 & L
07 $
" % &&/1°V* /28F V 78" +
" 0 $ ?
& - &&/1*V* 22F V 87"
16 /
$ %
L] % $
$ LA LAl .w
% . ) ,
$ e
$ $ (L]
% . ) ,
$ % " % $ "
$ 1
> $
ww % 6 $ $ )
$ % ,
, )
% , & .
$ )
$ ) $
L] ) %
E
&/--2" .
$ 6
$
% 1) ’ ’

012



. $
. ?
° << % $
& 04& ) .

3.4.1 Section 1 (Motorway 1)

& " ws % ’) e X %
LA /F LA , &( /I

3.4.1.1 Read 1

$ / 3 $
. . . %

$ / & K22/ $ % K
20/ F &1V /1F V 7" ” $ $
.. L] /
3.4.1.2 Write 1

/) s $ $

/7 ., + * & X /8

3.4.2 Section 2 (Loops)

3 ) (K] * L L] $
( ) LA 6 LA ,
&( ] s & ]

3.4.2.1 Write 2

s o % $ " ?
08 *
& &7V *0 /02F V 2 "=
& X /7 '

/ 012



Mean SDLP

Total number of lane departures

0.70

0.60

0.50

0.40 ~

0.30

0.20 -

0.10 ~

0.00 -

50

Control

Texting
Drive

40

42 departures
(by 9/15 participants)

30

20

10

- [

4 departures
(by 3/15 participants)

Control

W w

Texting

Drive

012



08 $ $
% $ <
$ ' %
3.4.2.2 Read 2
LA ( ) LA % $ .w
? LAl % , B LAl $ ) *
? ,&8/1°V*/ 1 /F N /7T
) LA} $ )
, (B ] O 2
25
g 20
= 18 departures
‘% (by 4/17 participants)
o
S
o 15
c
<
S
8 10 A 8 departures
S (by 3/17 participants)
2
<
k5
O _
Control Texting
Drive
1 1 # / 3 5 7
3 ) /
)
LAl LAl % ,)
C
3.4.3 Section 3 (Car following)
3 0) LA 6 LAl ! $ )
$ $ C
* LAl ’) 6 LA} % &( ol
% &3 '
3.4.3.1 Write 3
* * L]
C 0 ,C % ) " g&/1"V  /OF
VvV 7/ ") % " &&/1"V7 12F W /") $ b
& &/1"V O -27F V / -7) ? b &&/1"V * 1F V 888"

012



(@]

~
o

%

[*2}
[o¢]

2]
»

(e}
g

(¢}
N

Speed (mph)
(o))
o

58

56

54 -

52

50 -

Write 3 mean speed (mph)

%

)

impairment
LA $
) $

, %

C

Texting task

3

0]

should $

$

Write 3 max speed (mph)

%

@ Control
B Texting

012



7 .
6
g5
3
§ 4 lCont.roI
GE) B Texting
3
2 a
1 i
O _
Write 3 mean time Write 3 SD time headway ~ Write 3 minimum time
headway (sec) headway (sec)
Texting task
1 1?2 0 & ) 33 3 8 /
/ / - ! 7 /I 8 /
D /
3
$ % $ $ s
LA $ B LA $ ) LA
$ " $
$ * &
' " &< oK /1T VvV
7077F W / 2 K &1*V* T70F V 82- <
K &7V *0071F V 7 "
$) ? $

0/

8 012



Mean SDLP

0.50

0.45 ~
0.40 -

0.35

0.30

0.25 ~
0.20 -
0.15 -
0.10 -

0.05 -

0.00 -

0/

Control

Drive

0//

Texting

012



25

$ 20 18 departures
§ (by 4/17 participants)
&
Q
S
o 15
c
<
©
S 10
S
=1
c
s
2 5
0 departures
0 (by 0/17 participants)
Control Texting
Drive
1 144 / 3 / - 1 7
3 ) /
o C ») os/7 ™ , - %
$ ? $ %
LA $ $ I , LA
" 6 $ $
3.4.3.2 Ignored
#
$ $ $ $ , " $
* & X 0
3.4.4 Section 4 (Motorway 2)
3 7) O* (A} (A}
$ ( 7) ww 6 X %
& ( 7! $ LA
3.4.4.1 Write 4
3 ( 7 ,) 7
% F e % $
&&/8°"V0O 20F V 220" : )
b " % & K20/ F % 1/ b
% & " % $ - $ & % $ "
& V 1/-F V - $
2 012
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“You MUST exercise proper control of your vehicle at all times. You MUST NOT use a
hand-held mobile phone, or similar device, when driving or when supervising a learner
driver, except to call 999 or 112 in a genuine emergency when it is unsafe or impractical
to stop. Never use a hand-held microphone when driving. Using hands free equipment is
also likely to distract your attention from the road. It is far safer not to use any
telephone while you are driving - find a safe place to stop first.”
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3.10.2 Driving performance in the Texting and Control drives
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3.10.3.1 Concentration required and keeping in lane
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